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6. From the list, which terms are like 8x?

(3 552 4,559, 1127 —3 Section 5.2

Explain how vou know they are like terms.
Page 222-224

7. From the list, which terms are like —2n%

3n[—n?] —2, 4n[2n2] —2, 3[547]

Explain how you know they are like terms.

8. For each part, combine tiles that represent
like terms.
Write the simplified polynomial.
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9. Identify the equivalent polynomials in the

diagrams below. Justify your answers.
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11) Simplify each of the following expressions

a) 2c+ 3+ 3¢+ 1 b) 2%2 + 3x — 5x
3 )
Lt 3¢ ) A& - 9%
5C +4
0 3f*+3—6f*—2 d) 302 — 2b + 5b + 4b* + 1
3 bE T 4372 3B 44Bt —2ba 5y 4
37 4 b 1ab o+
e) 5t —4 — 22 + 3 + 61 f) 4a — a* + 3a — 4 + 24°
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12. Simplify each polynomial.

a) 2m + 4 —3m — 8 b) 4 — S5x + 6x — 2
dm “5m Yy -3 Cx - 5x +4-1
—m - H X +1
) 3¢ —6—2¢+9 d —5+1+h— 4h
g -3y -b 49 h-Uh — 5+
93 “dh - Y
e) —6n —5n—4—7 f) 3s —45s—5—6
“\In-1\ -5-“
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13. Simplify each polynomial.

a) 6 —3x+x2+9 —x by S5m — 2m?* — m* + Sm
Xt -%%x =% +bt1 “Jrt -t 4+ 5™ +5m
X* =Yy + 19 = 3mE + 0m

Q) Sx —x*+3x+ a0 —7 dy3p2—2p+4+p>+3
A ST A -1 3P+ PE —2p +YED
3y 4 - 1p +}

e a'—2a—4+2a—a"+4|p —6x>+17x—4—3x>+ 8 — 12
TG PR EEES ~6xXt -3 + 1 x4+ 8

.0 -qx?' 4+ Sx +4
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14. Simpvlif}.r each polynomial.

a) 3x+ 5y — 2% — 1 —y by pg — 1 — p*+ 5p — Spg — 2p
-2 "'5‘3-5 -\ -pt +pq,-5¢4 +5° -p -
X4ty - P -4e4 + 3P |

Q) Sx?+ 3xy — 2y —x? — 7x + 4xy| d) 3r3—trs+55+ rt— 2rs — 4s
3t YT _rs-2rs +Ss-Ys
SE - % By WY -9y -y

Yr™ -3vs |

Yo+ Y -2y

e d4gh +7 —2¢* —3gh — 11+ 6g [ —5s+ st — 452 — 125t + 10y — 2§

-4st-1s —12.5t - Sg Hos
EERAREIL IR $1-1\ 4ty st 4+ st-12st-Ss

—bss —\lst +Ss

-2k o+ lovy -y
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.

15. Identify the equivalent polynomials.
Justify your answers.

a) 1+ 5x b6 —2x+a—1—x+x
x1.+x1. - =% tb-l
Ax* -3x +5
(}4x3—?x+l—?x3+2x+3 d) 4 — 5x — 32
Ut -3 =3 #% e D
-t -sx tY
-3 -S% +Y

€ 2x — x> B 3x+ 2 +1— 23 + 2x

-kt 4 ax +3x t

Sx + |
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perimeter of each rectangle.
a X X X X X

by XX

P-2x 42x +2 12

P=Sx+Sr+X+X
Pz \ax
P oyx+l

\

/

—t et —h

Pz Yt Yx +3+3

P W ¥ 3x +2x +2X
Pz 8x tb

P=l10%
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20. Each polynomial below represents the
perimeter of a rectangle. Use algebra tiles
to make the rectangle. Sketch the tiles.
How many different rectangles can you
make each time?

a) 6¢c+ 4 b) 4d ¢) 8+ 2m

[ C C vy ™
' i i ,l“ I N ]
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f) 4a+ 10
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22. Write a polynomial for the perimeter of this
shape. Simplify the polynomial.

. S— ’P_-?_x4x+3x+3+23+35
= 6‘x.-\-6\3

2X

3X

10
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